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@ 91 91 ? 21) 91
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A=-=,B=-=
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1
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2. (x-A2=16x>-Bx+9 ¥4 1, A, Bo g
Tt ?

®43 @49 0416 @3 n

A5 S Ao 2

B

(4x)2 - 2x 4x X A 4+ A% = 16x2 — 8Ax + A2
=16x2-Bx+9

A2=9, A=3( AL AAL)

B=8A=24

~A=3 B=2
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(v=3) (s+2) =@ taxtpdm A5 a b Fasrn
e
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21 21
=x>+ax+b
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@ (x+3)2=x2+6x+9

@ (4x - 3y)? = 16x2 — 24xy + 9y?

® (x+3y)(3y — x) = (x + 3y)(—x + 3y) = —x? + 9y?
@ (x-5)(x+4)=x2-x-20

® (x+ 5y)(2x — 3y) = 2x2 + Txy — 15y

ufebd & Ae @oltt.

’




5. (r-D)(r-2)(r+2)(x+3) AHG 1), 229 A%E ot

® 3 @ 5 ® 7 @-5 @7

B

(x=1D)(x=2)(x+2)(x+ 3)

={(x-D(x+2)H(x-2)(x + 3)}

=(x*+x-2)(x* + x-6)

12 O] AlFE FofoF stRE, —6x2 + x2 - 2x% = —7x* oA x2 9]
A= 70l




D 2012 = (a-b)?

@ 499° = (a+b)?

® 9972 = (a+b)(a—b)

@ 103x97 = (ax+b)(cx+d)
@104x105 = (x+a)(x+b)

B

@ 2012 = (200 + 1)2 = (a + b)?

@ 4992 = (500 — 1)2 = (a — b)?

® 9972 = (1000 — 3)2 = (a — b)?

@ 103 x 97 = (100 + 3)(100 — 3) = (a + b)(a — b)
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7. (x—a)(2x+3):2x2—3?—,_1_11]1,2a—b94%l”—,°_-? (H,b>0)

@ -12 @ -9 @0 @ 3 ® 9

oAl g — gom b2 = 9O|BE p—3(- b > 0)
L 2a-b=3-3=0




8. (2-1)(2+ 12+ 12" + 1) U] 52

@® 63 @ 65 ® 127 @ 129 (3))255

(2Z2-DE+ D' +1) = 2= + 1)
=28-1
=256 — 1 = 255




@(XQ—X—G)H]Q

@ (¥ -9)m?

@ (x> -4x+4)m?

® (x> +x-6)m?

® (x?+6x+9)m?

(x=3)m ©o|t}.

ol

1

~NH

[a]

(x+2)m, Al2&
=(x*-x-6)m

=

7t2e] ol
(x+2)(x-3




10. the 1Y ARG FE| Yol 9

=TT -~
\
\
1
4x
2 /
@ 28x2 +22x+4 @ 28x2-12x+4
@28x2—22x+4 @ 10x2-22x+4

® 11x2-12x-4

Hol 7129 Aol 7x—2, A2 2] Aol 4x—2 0|},
A5 B H9] Yol=

(Tx—2)(4x—2) = 28x2 - 22x + 4

-




11.

(2x+ay)? =bx?> + cxy+9y* A W, a— b+ c 9 F= Aotoiet(H,

a>0)

> E

> ®et: 11

B

(2x + ay)? = 4% + daxy + a*y?

4x% + 4axy + a*y? = bx® + cxy + 9y?
b=4

a’=9

a=3(a>0)

4a=c

Se=12
a-b+c=3-4+12=11




—

3x =2y +2)(5x + 2y — 2) &) FAANAANA xy |, yz, zx Z2}F0] Al49

o
~—

b

@2 @10 ®2a @ @®33 O

B *
(3x—2y+2z)(5x+2y—2)
= {8x = (2y - 2)H5x + (2y - 2)}
2y-z=AE &3
(Bx—A)(5x+ A)
= 15x? — 2xA — A2
A =2y-zE HstH
15x% = 2x(2y — 2) - (2y - 2)?
= 15x2 — 4xy + 2xz — 4y? + 4yz — 22
Lxy,y, i B4 Ae d —44442=2




T4 AL ol gdtol thaL AXSHA?

311 x 311 — 310 x 312

-2

@ -2 @—1 ® 0

B

@ 1

a =311 °|=} 5},

311 x 311 - 310 x 312 — 2
=axa-(a-1)x(a+1)-2
=a’-(a®-1)-2
=a’-a*+1-2=-1




14. (2x-3y+1)(2x+3y—1) & ZA/NStAH?

© 4x?-3y* -1 @ 4x* -9y? -1
@4x2‘9y2+6y—1 @ 4x* 4+ 6y* -3y -1

® 4x%-3y> + 6y -1

B

(2x=3y+1)(2x+3y-1)
={2x-(By-1}{2x+ (3y-1)}
= (2x)? - 3y - 1)?

= 4x? = (9y* — 6y + 1)

= 4x% - 9y% + 6y -1




15. v IZH-MAM A F2 o] |olE x, y 21— 2y

it Al o g Hh2 7 UrE}‘:d 3&3? /
/
@ (2x+2y)(3x +y) = 6x> + 8xy + 2 3{:1:
@ (2x-2y)(3x+y) = 6x% — dxy — 2y? l‘\
@(2x+2y)(3x—y) = 6x% + 4dxy — 2)° ' Y
@ (3x+2y)(2x—y) = 622 + xy — 2)?
® (3x-2y)(2x+y) = 6x% — xy — 2y?

A 5| 7h2 9] Aol (2x+2y),
Al22] BolE (3x-y) oItk
wtebA] A HE | Yol

(2% + 2y)(3x — y) = 62 + 4xy — 2)°
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@ x®*+2x+15 @x2+2x—15 @ x2-2x-15
@ x*+3x-15 ® x2-3x-15

(RAAE e deol) = (712) x (M=)
= (x=3)(x+5)
= x2 +2x-15




17, (3x-2y+4z)(2x+2y—4z) & AN W, xy, yz, zx ZF2He] Al5=9]

w2?

@ @16 ® 18 @20  ©2

B ,
(Bx—2y+42)(2x+ 2y — 42)

= {3x — (2y - 42)}{2x + (2y — 42)}

2y -4z = AR X|25HH

(B3x—A)(2x+ A)

= 6x% + Ax — A2

A =2y 4z2 tY45tHA

6x% + (2y — 4z)x — (2y — 42)?

= 6x2 + 2xy — 4xz — 4y? + 16yz — 1622

nxy, vz, B4 AL 72416+ (-4) =14




© (-a-b)* ={-(a+b)}* = (a+b)

@ (~a+b)?={-(a-b)}* &, (a-b)? = a® - 2ab + b>
®(-a+2)(-a-2)=(-a)?-22=a*-4

@ (2a-b)? = (2a)> -2 x2ax b+ b? = 4a® - 4ab + b?
® (a+b)?-(a-b)? = 4ab




19. x-y=5x2+y>=9 4 off, xyo] 727

® -5 @—8 @ -10 @ -12

® -14

B

(x=y)%+2xy = x> +»°
25+ 2xy = 9
2xy = -16

Loxy=-8




20. x+y=3,xy=-4L M, (x-y)? 9 F2?

©0 @» o7 @ 5 ® 10

(x=y)2=(x+y)?—4xy=32-4x%x(-4) =25




